X% 7"7 'O R,T PR L7"02

He excludes a comparable exiting — VYRR RP INNST ANOXO

OVERVIEW

The X723 concludes that the ?05 of 702 PR (DN ARX™M) which is written
concerning an 12y 7K (and from where we derive that 2R 71 1785 703 PR
IR NITR? A03 W) teaches us that the PwITR 702 belong 77win aRY. It is so
indicated in the P10 for we assume that vynn Xp 7NN27 ARX°. It is not clear
what the X713 means. 19010 offers two explanations (and rejects the first).

— 11993 1N9 N DN NY NINY NTIRM N9I2¥N NNN NXOYS ININ 13529 Y
The 1''1 explains the meaning of 7nN37 AX°X just as the X% of the 2N
715927 from the master is at the time when she is a 791, similarly here
where we say X NTX? 103 ¥ it means when she is a 7w,

NN is not satisfied with the 7" wyo:
— 99990 YY) D27 TN To98 NNV 5H5 ¥WN XY NIND 1M

However it does not seem at all from the discussion in the X723 that it
was necessary to derive that the P105 of 702 X (2111 XX") is discussing the

time of NYY1; that was a self understood -
— %5y 79aNT 9097 19319 NN

But rather the X3 needed to know from where we derive that the 502
7R belong to the father. The " 5 does not seem to address this question.

mooIn offers his explanation:
— NANIT ANINY YI9H NN
And it seems that the explanation of 7101157 7R3 is -
— 9312 ANYIY PIRY I N30 IX 9D Y 120 BN PIN *mwaa s

"It would seem that the 1" understood the question of '77°72 ®2°KY' (on 2,3) to mean that indeed the fo>
Pw17°P belongs to the 7nX NX (the father), but only by a 71vp (when the father is her 1N7X), however by a
771 (where the father may not be considered the 117X), the 705 should belong to her. The X723 answers 7IX*X?
vynn Rp N7 indicates that AR NIX? o> W refers to a 77wl According to the n"3 there was never a
question to whom the 703 belongs to when she is X 1787 7IRYY; the question was that perhaps the 7% of
anR NTIXRY 703 v is referring to the father of a 73vp only.

2 The X3 asked 777> R°X7; indicating that the issue is not whether we are discussing a 77¥1 or a 71vp; but
rather how do we know that the v n of 51 11 N7IX? A0 PR means that the father receives the money,
perhaps the 771 receives the money. According to the 1"7 (that we initially understood that the father
receives the money [by a 71vp]) the &3 should have immediately asked "2 mavp "7 & R); not 77772 KK,
The same applies to the ensuing discussion of the *nni1 >na nX Py, that the only issue is whether the 702
belongs to the father or to the 77v1.

? Others amend this to read mw .
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If, for instance, when the 72X left the possession of the master, there
would have been money transferred, then it would be given to the master

from whom she is leaving® -
- 550 NPANT AN MYIN NNNOYA 902 VY JND 12920
Similarly here where there are monies transferred when she leaves her
father’s domain because of the 1w17°p, it belongs to the father from whom
she is leaving.
LNVIPN PYY $NRYN 19
And the wording of the question’ supports this interpretation.

SUMMARY

VYRR X 7NNIT AX°X means that the 287 Mwn AR°X° took place when she was
a 771 according to the ri'"7. However 19010 interprets it to mean that the fo>
goes to the NTX (the time of the IX*X> was never the issue).

_THINKING IT OVER
1. m»poIN concludes XWIpi N> vawn 191, Seemingly it is not merely the N?
X w1 Pt which supports mooin, but the X itself. Why state X°upn 772/5?!8

2. Does the wording of '71nM12>7 AX°X"' lend more support to 11" "9 or to "»
mooIna?

* The 70 teaches us that when the 7nX attains nv3 she goes out free from her master without paying
money. If an 72X would want to leave before she completed six years of servitude and she was not yet a
77v1 the 1178 would need to be compensated for the difference. In the case of a 717¥1 the 77N teaches that
even though she is leaving her master before the six years are completed; nevertheless the master receives
no payment of money to compensate him. If not for this 105 we may have assumed that the 17X must be
compensated for she is leaving his mw" prematurely.

5 A1 11785 703 X to the master of the 7nX (even though he is losing his 772K) IR NT8? 103 W 92X to the father
(of the 77v1) when he ‘loses’ his daughter due to 703 *W17°p.

® Others amend this to read (*"w7) o7unPA, referring to 7X°%° 71"7 >"w1 where he writes 1177 IRYW "% A0 WO
" The xm (immediately) asks that the two nX*¥> (of 77¥1 71K) are not similar. According to nNvoIN that
anMD7 XX means that we are comparing the two NIX'X* in regards to laws affected by the nX°¥> (i.e. who
receives the n02), the &3 rightfully asks how can we compare the laws if the n1°x> are different. However
according to the 1" that we are (merely) comparing the time of the mX°¥ (it is the time of n17y1), then why
should it matter that the mMX*%> from the 117X and the aX are different (levels of nR°¥°); it should have no
bearing on when the 1X°X> takes place. See: “Thinking it over’ # 1.

¥ See 19102 3 MR "
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